4-015 59

16

JR o
JR
JR
-1
-1
2.1 ¥ @
-2 1 150 aoszo B @
A=A
780
No, 1 No,1-1 1-4 3 e WH
0,0.4,0.7,1.0vol% — g #_a S
( 1.0vol%) No,2 No, 29 m q \ d
—
21 26 0.7% -3 | 1 y
2 ExEgIVIY-b
> BE3IV7U-b
6
-2
( No,2-1) T @ )
SD345 213.D16 EWWS e
NO,2-1 | D13[59.5] | D13[46.5]
NO,2-2 | D13[46.5}
\ N0,2-3 | D13[46.5] D13[86.5]
M NO,2-4 | D16[48.0]
N0,2-5 | D16[48.0] D16[88.0]
-4 NO,2-6 | D19[49.5]
-1 No,2 A-A) [A B Al @pis E Ba-a
— @DD13,016,019
- =
i |
agll== N ‘
1\ ”
A
-4
2.2,
No,1 -1 No,2
-2
-2
61° 69°
980-8580 1-1-1 R TEL022-266-9667

-29-



4-015

-2
2.3,
No,1
-5
1.0vol
0.7vol%
-6
(No,2-1)

No,2-1

0.7vol%

59 16 9
-1 No,1 ) No,2
(
1]
No Ne 0
0.7vol H
278N/ Y 3 293N/ 3 3
) )
Nel-1 00 c2 001 S 71 001 = 3 140
80 0.03 Ne2-1
Nel-2 04 60 0.01 = [] 115 151 = 1115 | 1725
= 202 70 002 45
Nel-3 | 07 m_| oW Ne2-2 | [ f I :
104 | 002 JSL/‘IB [ | 70 0.02 45 — -
75 001
Nel-4 10 &
99 003 75 0.05 26 185 =
Ne2-3
334 ' ]
i = [] l 75 0.05 26 185 —
! N | ™ 001 35 — —
2 No2-4 . I |
+ [] I| 80 0.02 75 — —
3 -4 2 16
® 73 0.02 45 55 =
Ne2-5
Z [ I| 73 0.02 45 55 =
—| 7 0.06 16 — —
Ne2-6 . | i
n—lsl/lg 1 [ 7 | oo 16 — —
334 *
614 2
1 +
No,2-5 No,2-6 2 .
3 -4 2
-3
[ |
120 104kN
99kN
100 [ goun 83kN |
0 0.7vol% 80 =
/
£ 60 <& 76kN | 75kN
62kN 60kN
0.7vol%  1.0vol% 40
0 20 I
0.7vol% 27.8N/mm’
o L L T n n T
[o0] 01 02 03[04] 05 06 08 09 [10]
0.7vol%
-5No,1
120 u 0.7vol%
(No,1-3) 10 N P —
100
No,2-3 80 /M
<60 | |
20 76kN 71k
. . . . 1ol )
20 + -
i S, 5\ . S
-7 Ne1-3 Ne2-1 Ne2-3
Ne
-6
= 0.7vol%
. Ne2-5
120 (m;i_z (m;;) ’ (D162)
100 eng 2 3972
A=1267 ° A2534 A2
80 @7 70 73
=60 ¥ Ne2-6|
3 Nel-3 Ne2-4 (D19*1)
40 {l_____L“’ (016*1) A=2865 °
A=1986 °
20 —_— No2
29.3N/mm?
0 ‘ ‘ ‘
0 100 200 300 400 500
( ) mm’
-7
1.0vol%

-30-



